l‘“B BB (1:1)
i M [ | M M
Us i © o i °
| N
e ’fJ'\ o I /ﬂ-\
T < | T “
T | 1
|:@ ! ® ©:] O o
s
60
Optical centre

u
4 s
—
i
] \%:
Parts List @/
ITEM | QTY PART NUMBER DESCRIPTION
1 1 |base_plate Y
2 1 |CCD_support_ CCD47_20 % I
3 1 |PCB_support :|
- 4 1 |CCD_spacer %//ﬁx %
s 1_|heatsink ®/ o
6 2 |ISO 4762 - M3 x 25 Hexagon Socket \{
Head Cap Screw é N
7 2 |ISO 4762 -M3x 16 Hexagon Socket A ¥
Head Cap Screw @ .
8 1 |blank_end_plate I e
9 4 |ISO 4762 - M4 x 10 Hexagon Socket ;—J
Head Cap Screw )
10 1 |lens_holder_end_plate o
11 1 |LH_side_plate Third Angle @6
12 21 |ISO 4762 -M2.5x8 Hexagon Socket 11.75 Nominal TNLESS OTHERWISE STATED|Materal rawn by Date Revision
Head Cap Screw oy olley | 30/08/2004 General assembly
13 1 |RH_side_plate Anguler Tov = xf,w) 2 Isaac Newton Group of Telescopes AG head CCD47-20
Apartado de Correos, 321
14 1 |[cross_bar Santa Cruz de La Palma File name Sheet
15 1 |top_plate +34 922 425 400 AG_head_CCDA47_20 | A2 11 /1
1 6 I 7 I 8




1 | | | | 8
B-B (1:1)
— M
O o
M
_ - o
B
O [} \
= J
60
Optical centre
AA (1:1)
Parts List
ITEM | QTY PART NUMBER DESCRIPTION H
1 1 |base_plate H
2 1 [CcCD_support CCD57_10 ]
3 1 |PCB_support %Q\ %
£ 4 1 |CCD_spacer

5 1 |heatsink e
6 2 |ISO 4762 - M3 x 25 Hexagon Socket

Head Cap Screw
7 2 |ISO 4762 -M3x 16 Hexagon Socket 4

Head Cap Screw
8 1 |blank_end_plate
9 4 |ISO 4762 - M4 x 10 Hexagon Socket

Head Cap Screw 5
10 1 |lens_holder_end_plate S
11 1 |LH_side_plate =) Third Angle@—é}
12 21 [ISO 4762 -M2.5x 8 Hexagon Socket 2 Sy e =

Head Cap Screw ® folley | 30/08/2004 General assembly
13 1 RH_side_pIate Isaac Newton Group of Telescopes AG head CCD57-10

Apartado de Correos, 321
14 1 |[cross_bar Santa Cruz de La Palma File name Sheet
15 1 |top_plate +34 922 425 400 AG_head_CCD57_10 A2 |1 71
1

I 8



1 l 2 l 3 l l 6 l 7 l 8
—— T [ ——
i — e e 1
0 67.5
N~
132.5
4-M2.5x0.45 10 DEEP 76
2-¢3.1 CBORE 60 4-M4x0.7 10 DEEP
@7 x 4 DEEP
©
N~
6-M6x1 n| m
\___‘) | ~—— 5
L — = L =
1
< o
© © X ©
~ 8 ™ = 8| o
1
.y
E»———
[ee]
] N
O 10 O E
o o B g
N -—=, N © n — N
= |l I -—1
1l 11
22.5
82.5
7.6
1425
12
152.5
Third Angle @—6
glrlvﬁsesn s(iJoTnF;Eir?\nl‘\\Irl\fE STATED| Material Drawn by Date Edition
General Tol: £ 0.1 Aluminium alloy JO”ey 30/08/2004 Base plate
’;32;';’ ::,'{; ﬁfi,ons): 32 Isaac Newton Group of Telescopes AG head (CCD47-20 & CCD57-10)
REMOVE ALL SHARP EDGES | Finish Apartado de Correos, 321
Clean - Do not Santa Cruz de La Palma File name Sheet
anodise +34 922 425 400 base_plate A3 |1 /1
1 | 2 | 3 | 4 5 | 6 7 | 8




25.2
[(e]
© (o]
—
- ——— o
—— ~
@5 THRU 2-M3x0.5
For temperature
sensor
16
14
M3x0.5 7 DEEP
For thermal cut-out
I o)
La—
<
10 g o
o
[ee]
L (o]
/ ©
LI 2_¢32/ TT T T T1 g ™
Il @ ' (11 1l
I (11 1l
1l T I I
38
Third Angle@—g
glrlxl;Ess OTHERWISE STATED| Material Drawn by Date Edition
General Tol: £ 0.1 Aluminium alloy JO"ey 27/08/2004 1 CC D47'20 SU pport
’;32:';’ ::,'{; f:f,i,ons): 32 Isaac Newton Group of Telescopes AG head (CCD47-20)
— Apartado de Correos, 321
5E§AOVEKALTL‘S‘:“:%ER»GES lecslgan - Do not Santa Cruz de La Palma File name Sheet
o f anodise +34 922 425 400 CCD_support_CCD47_20 A3 1 /1
| 3 |

Zlk 5 I 6 7 I 8




l l 4 l 6 7 l 8
25.2
© o e
—
— (@]
32
@5 THRU 2-M3x0.5
For temperature 16
sensor 14
2-M3x0.5 7 DEEP
For thermal cut-out
O
= d
2 3

n
Lo

o o

i
2-Q53.2/ @ v
-
N
38
Third Angle @—6
UNLESS OTHERWISE STATED| M aterial Drawn by Date Edition
All dimensions in mm JO”ey 27/08/2004

General Tol: & 0.1

Angular Tol: £ 0.25
Surface Finish (microns.2

Aluminium alloy

Isaac Newton Group of Telescopes
Apartado de Correos, 321

CCD57-10 support
AG head (CCD57-10)

5EZ¢O¥EKALTLSK:V:TWE%GE}S Flmcslgan - Do not Santa Cruz de La Palma File name Sheet
nodise +34 922 425 400 CCD_support_CCD57_10 1 /1
| | 5 | 6 7 | 8




50

32

10

2 Holes @3.2
\ -

o o
g [ee}
To]
3-M3x0.5 <2
N (o]
o
Y 1
(o}
[ee] [ee]
o Lo
N
5.5 —
50
94.5
100
Third Angle @—6
g‘!‘\lI&ESS OTHERWISE STATED| M aterial Drawn by Date Edition
imensions in mm H
General Tol: 0.1 Aluminium Alloy jolley 27/08/2004 1 PCB Support plate
I l:£ 0.
Guace Finieh (mcrans.2 Isaac Newton Group of Telescopes AG Head (CCD47-20 & CCD57-10)
Apartado de Correos, 321
%Evgiogviﬁ\:sfﬁif%eis Finish Santa Cruz de La Palma File name Sheet
e e Clean +34 922 425 400 PCB_support 1 /71

3 I 4 S ZP 5 | 3 7 | 8




l 3 4 5 l 6 7 l 8
12 40 M2.5x0.45 6 DEEP
CCD package mounting holes
e) d / M3x0.5 o
¥ & O c——w—v [
©
i
@] O [
n
™
54.5 13
64.5
Third Angle @—6
K..Néﬁf;sn ;?anl?:e\n/:lrl‘fE STATED| Material Drawn by Date Edition
General Tol: £ 0.1 Aluminium Alloy jolley 30/08/2004 CCD Spacer

Angular Tol: £ 0.25
Surface Finish (microns): 3.2

Isaac Newton Group of Telescopes

Apartado de Correos, 321

AG Head (CCD47-20 & CCD57-20)

5E§AOVEKALLS‘:V:TWEE»GLES chl:sll;an - Do not Santa Cruz de La Palma File name A3 Sheet
anodise +34 922 425 400 CCD_spacer 1 /1
| 3 5 | 6 7 | 8

ZiN




2 ] 3 6 ] ] 8
32 60
16
o
-
[ce]
- (@]
o (@]
ol ~
wn
(@]
4-$3.2 /
N
[}
—
Twist each finger 45
49 to aid air flow
S
41
34
27
20
— 113
— 6
0
38 38 Saw cuts to produce cooling fins
Note: Dimensions to saw cuts are for reference only
152
Third Angle {8)-=—1
ONESs oTHERISE STATED| Material Drawn by _ Date |Edmon
General Tol: £ 0.1 Aluminium alloy jolley | 30/08/2004 Heatsink
Soce e meronsyaz | 2mm thick Isaac Newton Group of Telescopes AG head (CCD47-20 & CCD57-10)
Finish ASpartath deé:orreos,|321 =
. anta Cruz de La Palma File name ee
Sa"db'ﬁ;ca;‘d paint +34 922 425 400 heatsink | A2 11 /1
2 I 3 6 I I 8




l 4 l 6 7 8
103
13
E2.Q i e——
o
N
6-M2.5x0.45 7 DEEP
2.5

TT] 'l 'l TT]
y u U U
o ] [ (¢}

o

N

—

o
(o]
@4.2
o \_ = - (¢}
= ] \O\ o ]
(o] (o]
N~ N~
7.6
108.4
116 Third Angle@-é}
glrlvﬁsesn s(i)oTnF;Eir?\nﬁlrl\fE STATED| Material Drawn by Date Edition

General Tol: £ 0.1 Aluminium alloy JO”ey 30/08/2004 End plate

Angular Tol: £ 0.25
Surface Finish (microns): 3.2

REMOVE ALL SHARP EDGES

Isaac Newton Group of Telescopes
Apartado de Correos, 321

AG head (CCD47-20 & CCD57-10)

i o s gy e e Finish Santa Cruz de La Palma File name Sheet
o Black anodise +34 922 425 400 blank_end_plate A3 1 /1
| | 6 7 8

Zlk 5




1 2 | | 4 15) 6 7 | 8
103
0
[V}
) J I I T A—
] f f 0,44
A
5
2.5
[ TT TT [
I I I 1
q @40 x 20 t.p_i_\ u u 6-M2.5x0.45 7 DEEP U
<] \O
o
N
—
o
o
& ()}
o
©
2 Holes @4.2
a——
g O
—
© ©
™~ 7.6 ~
58
108.4
116
Third Angle @—6
g‘!‘\lI&ESS OTHERWISE STATED| M aterial Drawn by Date Edition
imensions in mm H
aners ot 01 Aluminium Alloy Jolley 27/08/2004 Front lens holder
I l:£ 0.
Surtace Fimish (moronsp 2 Isaac Newton Group of Telescopes AG head (CCD47-20 & CCD 57-10)
Apartado de Correos, 321
%Evu:iogv%f&sfﬁpwﬁeis Finish Santa Cruz de La Palma File name Sheet
R e exprecs consen ot e eaac Nevton Black anodise +34 922 425 400 lens_holder_end_plate 1 /1
1 2 | | 4 5 6 7 | 8

ZiN




115

72.5 29.3
14.65
4-M3x0.5
o)
©
<
—
o) ‘O o]
|
7 Holes @2.7 ™
_ _ o
N
' o
b\ le) lo) |
o
N\ 3
@34 For a 2041 0
o military connector b
© (Amphenol) S —
O (@]
o)
— (e} V_ O ﬂ
T} T}
~ ~
25
72.5
137.5
139
160
162.5
Third Angle @—6
g‘r‘\ltﬁsesnggnfsmle STATED Material Drawn by I Date Edition i
General Tol: £ 0.1 Aluminium A”Oy Jolley 27/08/2004 1 LEft hand Slde plate
Sortace fmien (nrronss 2 2.5mm thick Isaac Newton Group of Telescopes AG head (CCD47-20 & CCD57-10)
parta 0 de Correos,
%Evgiogviﬁ\:sf::z?%eis Finish Santa Cruz de La Palma File name . Sheet
SRS Black anodise +34 922 425 400 LH_side_plate 171

) | 3 | a ZP 5 | 3 7 | 8




| 3 4 5 | 6 | 7 8
72.5
4-M3x0.5 For
@38 cooling fan
©
7 Holes @2.7
SI\ | 4¢_QO
\I\ —
N B N
(42}
I
3 ‘o S
A —
& 16 S
o
[0}
L 32
oD o
A" "4
© © © 9
L 0
~ ~
25
72.5
122
137.5
160
162.5
Third Angle @—6
g‘!‘\lI&ESS OTHERWISE STATED| M aterial Drawn by Date Edition
imensions in mm H H M
Genera Tol & 0.1 Aluminium Alloy jolley 27/08/2004 Right hand side plate
I i 0. .
Guace Finieh (mcrans.2 2.5mm thick Isaac Newton Group of Telescopes AG Head (CCD47-20 & CCD57-10)
partado de Correos,
%Egiogvi‘\&sfﬁ??s Finish Santa Cruz de La Palma File name ] Sheet
et 25| Black anodise +34 922 425 400 RH_side_plate-1 1171
2 | 3 | 6 7 8

. AP 5




10

10

3-M2.5x0.45 Thru

s

10 48 48
2-M2.5x0.45 7 DEEP
(2:1) 116
Third Angle @—6
g‘!‘\lI&ESS OTHERWISE STATED| M aterial Drawn by Date Edition
imensions in mm H
General Tol: & 0.1 Aluminium aIon Jolley 27/08/2004 CI’OSS bar
Al lar Tol: £ 0.25
Surtace Finish (icronsB.2 Isaac Newtgn grogp of Telg;copes AG head (CCD47-20 & CCD57-20)
Apartado de Correos, 321

%%?%f&?ﬁ?g?s Finish Santa Cruz de La Palma File name Sheet
e agrnere|  Black anodise +34 922 425 400 cross_bar 171

| | | 4 | 6 7 | 8

Zlk 5




2 | 3 | 4 | 6 7 | 8
72.5
o
N
—
o v
(@) (@)
4-M3x0.5—~_|
@38 Cooling
. (o) —_—
air exhaust A
©
—
o
o ©
© —
= y
o
0
7 Holes @2.7 16 16 3
(@)
b\ ¢ 'y
[Te) L0
w0 N 0
— — ©
2.5
46
72.5
160
162.5
Third Angle @—6
g‘!‘\lI&ESS OTHERWISE STATED) M aterial Drawn by Date Edition
imensions in mm H
General Tol: £ 0.1 Aluminium A”Oy JO"ey 27/08/2004 TOp Plate
I l:£ 0. i
Suface Finiah (merons.2 3mm thick Isaa Newton Group of Telescopes AG Head (CCD47-20 & CCD57-10)
partado de Correos,
%Evu:iogviﬁ\:sf::i?%eis Finish Santa Cruz de La Palma File name Sheet
aedemieniainisr | Black Anodise +34 922 425 400 top_plate 171
2 | 3 | | 6 7 | 8

Zlk 5




